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Example 1
A (x+3)(P +1Xx-4)* =0

Xz ) x:ﬁL x=4 M3

Solve each equation or inequality,

{
B. (x+3)(xZ+1)x—4)2 >0 C. (x+3)(x2+1)Xr-4)% <0
( 3/L{) v (L[/OO) (~0,-3)
D. (x+3)(x? +1)x—4)2 >0 B, (x+3)(x2+1)(x—-4)% <0

-3, ) [4]
E 3./ - &,~3{ Y
METHOD #1: — —+ —+
THE SIGN CHART M
a ( )
( X +3 ) X )X -
NN § ) of the x-intercepts of the polynomial are placed on the sign chapp*# s ¥

METHOD #2:
THE GRAPH
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Solve each inequality.

B. (" +7)(3x" +1)<0
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D. (& +x+7)(3x+1) >0
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H. x3_9x2+11x+21<0
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(X-3)(x f-?)(x”) <0
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When you solve a rational inequality, you must include all of the zeros AND undefined values
for the function on the sign chart,

Example 3 Solve each equation or inequality.
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Example 4 Solve each inequality.
A |_5_<___§_ | B. 5x+l> 9;\'+5
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In exercises 1-6, complete the factoring if needed, and solve the polynomial inequality.

1. (x+1)(x-.-3)2 >¥0 (,)ﬂb u(?,}oo)
i * a3
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In exercises 7-11, solve each inequality. _ o :
7. .72"1 =0 - -+ - +> C-.w/——a) U(I, JL) b
T 2
Aok o« o~ I o a
(78
x? -1 b
8. <0 . : | ¢
x +1 + f7 E“ l' i_] L
(xuxx—)( < .ﬂit ¢ :
)C"-t—l ’
o L2, R e (~o=," DV, =) i
x° —4x+4 7 :
(x +)x- 3) - ,7
|
(x-D{(x-9
2 -
10. = +36x S0 E, - ot o5 ;
X =0x+ N, . M
e, 5 5 3 (75,9) . .
- L“( ?)) (,X ’:’.) .
— x=5 x+2 ¥ _ _ ;
- 11, — — : : +
. 5 x+1 X= 3 ) - e—?——?‘_@_) :
x2 X2 ;’:” ~X¥ Xt <z =My #13 --'f 13 3 :
X-3 x-3 Xt (——‘———"y 3,)()«“)
ﬁisx‘g)"'ls - (X X $dx +Q) N . L ”) (3 w) (;ZC) :
o () 7 +e 0,0

B



